

State of West Virginia Department of Administration Purchasing Division

NOTICE

Ω

O

0

O

000

0 0 0

O

O

Due to the size of this bid, it was impractical to scan every page for online viewing. We have made an attempt to scan and publish all pertinent bid information. However, it is important to note that some pages were necessarily omitted.

If you would like to review the bid in its entirety, please contact the buyer. Thank you.



State of West Virginia Department of Administration Quotation
Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Request for

RFQ NUMBER FLRCOV09 PAGE 1

ADDRESS CORRESPONDENCE TO ATTENTION OF

JO ANN ADKINS 304-558-8802

304-562-6977 *709022048 ALL STATE AGENCIES CUSTOM CARPETS INC AND POLITICAL SUBDIVISIONS PO BOX 173 VARIOUS LOCALES AS INDICATED þ 713 ORCHARD PARK DRIVE BY ORDER HURRICANE WV 25526

DATE PRIN	eki delen delen deleg resteren ses	TER	MS OF SAL		SHIP VIA			FO.B	<u>850 (888</u>		GHIJEN	
07/09/ BID OPENING DATE		l 08/18/2	2000				ייייייייייייייייייייייייייייייייייייי	NING TIME	<u> </u>	30PM		
	2 25 35 35 35 35 35 35	UB/ 18/ NTITY	UOP	CAT	ITEM NUME			UNITPRICE			AMOUNT	
LINE	GUA	WI I I I		NO.								
									ĺ			
			REĢ	QUEST	FOR QUOTA	TION						
	FOR A	BLANKE:	r opei	1-END	STATEWIDE	CONTRA	CT	TO PROVIDE				
	FLOOR	COVERI	NG (CZ	RPET,	VINYL TIL	E) TO A	ALL	WEST	ļ			
	VIRGIN	IA STA	'E AGI	ENCIE	AND POLI	TICAL S	JUBI	DIVISIONS.				
	*****	***NOT	CE**	****	****NOTICE	*****	***	*NOTICE****	**			
	A MAND	ATORY 1	PRE-B	D WI	L BE HELD	ON JUI	Y 2	28, 2009 AT			2000 AUG 19	Security of the same of
	10:30	A.M. II	7 THE	PURC	HASING DIV	ISION (PONI	FERENCE ROOM	.		A133	
•	LOCATE	D AT: 3	2019 T	WASHI	IGTON STRE	ET EAST	ŗ, (CHARLESTON,			킅	
	WV 253	05 (BU:	LDING	F 15 (CAPITOL CO	MPLEX)	·			DWGON ST	<u></u>	(
	I				ARE REQUI					系元	G	rich
	MEETIN				TEND THE					43.3	إشريته	المنظم المنظ المنظم المنظم المنظ
	\$HALL	RESULT	IN D	SQUA:	LIFICATION	OF THI	E BI	ID. NO ONE			44 mm	ندر سایت سا در ۳۰۰ سیسی
	PERSON	MAY R	EPRES	ENT M	PRE THAN O	NE BIDI	PER.	•				RECEIVED
		ידאריייייי אי	A NICIE	CUEE	י שדדד סבי	מארטבי אז	V 20 T T	LABLE FOR AL	.T.	25		
,	** AN	ATTEN	PANCE		MATHT DE	THADE M	Y 23.1.1 TT.T.	SERVE AS TH	in.			
	POIDNI	TWH DAT	המשמחה	10 C	YING ATTE	NDANCE	ΔT	THE	_	<u> </u>		
		ORY PR	II .	•	TITER TO P	ROVIDE	VOI	UR COMPANY				
								SHEET WILL				
					TION OF TH			HE STATE WIL	,Τ,			
man in the second					OCUMENTATI		1		-			
	ATTEND			RIDDE.	P TS RESPO	NSTRLE	FOI	R ENSURING				
								RED ON THE				
	I	ANCE S	1	E	PURCHASIN							
								BILITY FOR A	7			
								ATTENDANCE				
	SHEET.	TN A	DTTT	dn. w	E REQUEST	THAT A		POTENTIAL				
	BIDDER	S INCL	UDE T	HEIR	E-MAIL ADD	RESS A	ND I	FAX NUMBER.				
			T									
	*****	*****	****	****	******	****	* * *	*****	: *			
	National Confession (Confession Confession C											
100000000000000000000000000000000000000	 	200000000000000000000000000000000000000		 grp pr	VERSE SIDE FOR T	ERMS AND CC	NDITK	ONS				
SIGNATURE				VIII (1)		TELEPHONE			DATE			
			~*************************************									
TITLE		**	EIN				1	ADDRESS CHAI	NGES	S TO BE N	OTED AE	SOVE

GENERAL TERMS & CONDITIONS REQUEST FOR QUOTATION (RFQ) AND REQUEST FOR PROPOSAL (RFP)

- 1. Awards will be made in the best interest of the State of West Virginia.
- 2. The State may accept or reject in part, or in whole, any bid.
- 3. All quotations are governed by the West Virginia Code and the Legislative Rules of the Purchasing Division.
- 4. Prior to any award, the apparent successful vendor must be properly registered with the Purchasing Division and have paid the required \$125 fee.
- 5. All services performed or goods delivered under State Purchase Order/Contracts are to be continued for the term of the Purchase Order/Contracts, contingent upon funds being appropriated by the Legislature or otherwise being made available. In the event funds are not appropriated or otherwise available for these services or goods, this Purchase Order/Contract becomes void and of no effect after June 30.
- 6. Payment may only be made after the delivery and acceptance of goods or services.
- 7. Interest may be paid for late payment in accordance with the West Virginia Code.
- 8. Vendor preference will be granted upon written request in accordance with the West Virginia Code.
- 9. The State of West Virginia is exempt from federal and state taxes and will not pay or reimburse such taxes.
- 10. The Director of Purchasing may cancel any Purchase Order/Contract upon 30 days written notice to the seller.
- 11. The laws of the State of West Virginia and the *Legislative Rules* of the Purchasing Division shall govern all rights and duties under the Contract, including without limitation the validity of this Purchase Order/Contract.
- 12. Any reference to automatic renewal is hereby deleted. The Contract may be renewed only upon mutual written agreement of the parties.
- 13. BANKRUPTCY: In the event the vendor/contractor files for bankruptcy protection, the State may deem this contract null and void, and terminate such contract without further order.
- 14. HIPAA BUSINESS ASSOCIATE ADDENDUM: The West Virginia State Government HIPAA Business Associate Addendum (BAA), approved by the Attorney General, and available online at the Purchasing Division's web site (http://www.state.wv.us/admin/purchase/vrc/hipaa.htm) is hereby made part of the agreement. Provided that, the Agency meets the definition of a Cover Entity (45 CFR §160.103) and will be disclosing Protected Health Information (45 CFR §160.103) to the vendor.
- 15. WEST VIRGINIA ALCOHOL & DRUG-FREE WORKPLACE ACT: If this Contract constitutes a public improvement construction contract as set forth in Article 1D, Chapter 21 of the West Virginia Code ("The West Virginia Alcohol and Drug-Free Workplace Act"), then the following language shall hereby become part of this Contract: "The contractor and its subcontractors shall implement and maintain a written drug-free workplace policy in compliance with the West Virginia Alcohol and Drug-Free Workplace Act, as set forth in Article 1D, Chapter 21 of the West Virginia Code. The contractor and its subcontractors shall provide a sworn statement in writing, under the penalties of perjury, that they maintain a valid drug-free work place policy in compliance with the West Virginia and Drug-Free Workplace Act. It is understood and agreed that this Contract shall be cancelled by the awarding authority if the Contractor: 1) Fails to implement its drug-free workplace policy; 2) Fails to provide information regarding implementation of the contractor's drug-free workplace policy at the request of the public authority; or 3) Provides to the public authority false information regarding the contractor's drug-free workplace policy."

INSTRUCTIONS TO BIDDERS

- 1. Use the quotation forms provided by the Purchasing Division.
- 2. SPECIFICATIONS: Items offered must be in compliance with the specifications. Any deviation from the specifications must be clearly indicated by the bidder. Alternates offered by the bidder as EQUAL to the specifications must be clearly defined. A bidder offering an alternate should attach complete specifications and literature to the bid. The Purchasing Division may waive minor deviations to specifications.
- 3. Complete all sections of the quotation form.
- 4. Unit prices shall prevail in case of discrepancy.
- 5. All quotations are considered F.O.B. destination unless alternate shipping terms are clearly identified in the quotation.
- **6. BID SUBMISSION:** All quotations must be delivered by the bidder to the office listed below prior to the date and time of the bid opening. Failure of the bidder to deliver the quotations on time will result in bid disqualifications: Department of Administration, Purchasing Division, 2019 Washington Street East, P.O. Box 50130, Charleston, WV 25305-0130



State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Request for Quotation

RFQ:NUMBER
FLRCOV09

PAGE 2

ADDRESS CORRESPONDENCE TO ATTENTION OF JO ANN ADKINS 304-558-8802

*709022048 304-562-6977 CUSTOM CARPETS INC PO BOX 173 713 ORCHARD PARK DRIVE HURRICANE WV 25526

DATE PRINTED 7	ERMS OF SALE	SHIP VIA	F.O.B	FREIGHT TERMS
07/09/2009				
BID OPENING DATE: 08/18		BID OPEN		:30PM
LINE QUANTITY	UOP CAT TE	M NUMBER	UNIT PRICE	AMOUNT
			<u> </u>	
ATTACHMENTS				
FT.RCOV09 SE	ecifications, date	ED 07/09/2009	, 17 PAGES.	
FLRCOV09 PR	CICING PAGES			
RESIDENT VE	ndor preference			
purchasing	AFFIDAVIT.	·		
	AN ELECTRONIC VERS	TON OF FIRCO	VAA DETATNA	
****NOTE:	BE FOUND AT:	STON OF THREE	VOD 111101110	L. L
PAGES CAN E	STATE.WV.US/ADMIN	PURCHASE/NEW	BUL.HTM	
VENDOR MUST	SUBMIT A PAPER B	ID WITH THE F	LRCOV09 BID.	
THE PAPER O	COPY SHALL PREVAIL	IF ANY DIFFE	RENCE EXISTS	
	E ELECTRONIC COPY	AND THE SURMI	T.T.ED	
PAPER BID.		•		
ANY DECITION	ING CONTRACT SHALL	MULTIPLY THE	LABOR RATE	
RY THE SOUR	ARE FEET OF THE FLO	OOR AREA TO B	E COVERED,	
WHICH WILL	OFTEN BE LESS THAT	n actual squa	RE FEET OF	
CARPET PURC				
		mon negertare	ONT MITTIE ATT	
ALL QUOTED	PRICES ARE TO BE HARGES INCLUDED IN	ARE OLIOARITED DESTINATI	ON WIIN WHI	
SHIPPING CI	N SHALL BE \$250.00	FOR ORDERS	LESS THAN	
#ESTIMATION TO	RANSPORTATION CHAR	GES MAY BE IN	VOICED	
\$EPARATELY	. WITH THE ORIGINA	L FREIGHT BIL	L ATTACHED	
TO THE INVO	oide. Agencies ma	Y MAKE PUR¢HA	SES OF	
MATERIAL O	NLY THAT FALL UNDE	R THE \$250 00	LIMIT AT A	
\$OURCE TO	AVOID THE DELIVERY	CHARGES.		
NOTE: THE	S APPLIES TO PURCH	ASE OF THIS P	PRODUCT ONLY.	
NOTE: THIS	INGING ORDER TO CI	RCUMVENT PURC	CHASING	
	S IS EXPRESSIY PRO			
****		a agreerit e itt	יים ד העדאורי	
BIDDERS MU	ST SIGN THE PRICIN	G SCHEDULE VE FOR TERMS AND CONDIT	ONS	
SIGNATURE	OLE REVENOLISIO	TELEPHONE	DATI	The state of the s
TITLE	FEIN		ADDRESS CHANG	ES TO BE NOTED ABOVE
	NO TO DECLINEEDT NAME	AND ADDDECCINU		



State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Request for Quotation

FLRCOV09

PAGE

JO ANN ADKINS
304-558-8802

*709022048 304-562-6977 CUSTOM CARPETS INC PO BOX 173 713 ORCHARD PARK DRIVE HURRICANE WV 25526

DATE PRIN	ITED TE	RMS OF SALE	SHIP VIA		F.O.B.	FREIGHT TERMS
07/09/	2009				<u></u>	
BID OPENING DATE	08/18/	2009		BID Q	PENING TIME 01	:30PM
LINE	QUANTITY	UOP CAT	ITEM NUMB	ER	UNITPRICE	AMOUNT
				TONG	דיייניאוכ סייי	
	THE ITEMS QUETHAT DEVIATE	OLED MEEL	CDECIFICAT.	TONS MIII	ST BE SO	
	MARKED AND T	FROM INE	ON FROM SPI	CTETCA	TION MUST	
	BE NOTED.					
	1			1		
	IMPORTANT	IMPOR	TANT	IMPOR	TANT	
				5-54	* *.*********	
	PRICING SCHE SIGNATURE ON	EDULE MUST	BE SIGNED.	BIDS	WITH NO	
	DISQUALIFIED	1	NG SCREDOD.	c wrnn	فندند	
	DISCOURTERE					
- Level and a second a second and a second a						
: 						
			100 10			
φ001	-	\$F	\$60-10			
	MODULAR AND	POLI, CARPE	T AND VINY	r cowbd	STION TILE	
	MODODAK AND					
						·
	EXHIBIT 3					
		7 A CIT 1	TO CONTURN C	ייי ספיראו	ES EFFECTIVE ON	
	TIFE OF CON.	I'RACI': I'H	TS CONTRAC	EUB A I	ERIOD OF ONE (1)
	VEAR OR UNT	TI SUCH "RE	ASONABLE T	IME" TH	EREAFTER AS IS	
	NECESSARY TO	O OBTAÍN A	MEW CONTRA	CT OR F	ENEW THE	
	\$\phiRIGINAL COI	NTRACT TH	E "REASONA	BLE TIN	IE" PERIOD SHALL	_
ALIA MARIA	NOT EXCEED '	rwelve (12)			THIS "REASONABLE	E
	TIME" THE V	ENDOR MAY I	ERMINATE T	HIS COL	TRACT FOR ANY HASING 30 DAYS	
	WRITTEN NOT		DIRECTOR	OF FOR	IIADING JO DAID	
	METITEN NOT					
	UNLESS SPEC	Itic PROVIS	tons are s	TIPULAT	ED ELSEWHERE	
	th This Con	TRACT DOCUM	IENT, THE T	ERMS, (ONDITIONS AND	,
	PRICING SET	HEREIN ARE	FIRM FOR	THE LII	E OF THE	
	CONTRACT.					
	L RENEWAL: TH	TS CONTRAFT	EVERSE SIRE FOR H	RYMAND CO	NETRINSTHE MUTUAL	
SIGNATURE	the state of the s			TELEPHONE	DATI	
TITLE		FEIN			ADDRESS CHANG	ES TO BE NOTED ABOVE
		<u> </u>	COT ALABAT AND	ADDDECC	IN SPACE ABOVE LARE	LED 'VENDOR'



*709022048

PO BOX 173

CUSTOM CARPETS INC

HURRICANE WV 25526

713 ORCHARD PARK DRIVE

State of West Virginia
Department of Administration
Purchasing Division
2019 Washington Street East
Post Office Box 50130
Charleston, WV 25305-0130

304-562-6977

Request for Quotation

RFO NUMBER FLRCOV09 PAGE 4

ADDRESS CORRESPONDENCE TO ATTENTION OF

JO ANN ADKINS 304-558-8802

SH-₽ FO

DATE PRINTED	TERMS OF SALE	SHIP VIA	FO.B	FREIGHT TERMS
07/09/2009				
BID OPENING DATE: 0.8	/18/2009	BTD O	PENING TIME 01	;30PM
LINE QUANTIT		ITEM NUMBER	UNIT PRICE	AMOUNT
SUBMITTE DAYS PRI BE IN AC ФRIGINAL	D TO THE DIRECT OR TO THE EXPIRENCE WITH	SPENDING UNIT AND FOR OF PURCHASING RATION DATE. SUCT THE TERMS AND CONT SHALL BE LIMITED '	THIRTY (30) H RENEWAL SHALL DITIONS OF THE	
RIGHT TO NOTICE T SUPPLIED	CANCEL THIS CONTROL OF THE VENDOR II	CTOR OF PURCHASING TRACT IMMEDIATE: THE COMMODITIES ERIOR QUALITY OR THE BID AND CO	LY UPON WRITTEN AND/OR SERVICES DO NOT CONFORM	
AUTHORIZ MARKET, ESTIMATE IMMEDIAT CAUSES (E A SPENDING UI WITHOUT THE FILE FOR THE SPECIF FOR DELIVERY IN DE	E DIRECTOR OF PUR NIT TO PURCHASE OF LING OF A REQUISTIED ON THIS CONTR EMERGENCIES DUE TO NOT LIMITED TO DE CIPATED INCREASE	N THE OPEN TION OR COST ACT FOR O UNFORESEEN LAYS IN TRANS-	
APPROXIM THE STATE THAT THE ORDERED	MATIONS ONLY, BA TE SPENDING UNI' E CONTRACT SHAL FOR DELIVERY D	LISTED IN THE REASED ON ESTIMATES T. IT IS UNDERST L COVER THE QUANTURING THE TERM OF HAN THE QUANTITIE	SUPPLIED BY OOD AND AGREED ITIES ACTUALLY THE CONTRACT,	
AGENCIES TO THE C COPY SHA	S SHALL ISSUE A CONTRACT VENDOR ALL BE MAILED TO	DERS \$100,000 OR WV-35 BLANKET RE FOR THE DESIRED THE PURCHASING \$100,000: PREPAR	LEASE ORDER, ITEM(S). A DIVISION.	
FORWARD	FOR REVIEW BY '	the purchasing di	VISION. AT THE	
	SEERE	VERSE SIDE FOR TERMS AND CON	ÍDITIONS IDATE	
SIGNATURE		TELEPHONE	DATE	
TITLE	FEIN		ADDRESS CHANGE	S TO BE NOTED ABOVE



*709022048

PO BOX 173

CUSTOM CARPETS INC

HURRICANE WV 25526

713 ORCHARD PARK DRIVE

State of West Virginia Department of Administration Quotation Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

304-562-6977

Request for

RFQ NUMBER FLRCOV09

ADDRESS CORRESPONDENCE TO ATTENTION OF:

JO ANN ADKINS <u> 804 - 558 - 8802</u>

ALL STATE AGENCIES AND POLITICAL SUBDIVISIONS VARIOUS LOCALES AS INDICATED BY ORDER

FREIGHT TERMS F.O.B. DATE PRINTED TERMS OF SALE SHIP VIA 07/09/2009 BID OPENING DATE: 01:30PM 08/18/2009 BID OPENING TIME CAT AMOUNT ITEM NUMBER UNIT PRICE QUANTITY UOP LINE DISCRETION OF THE DIRECTOR OF PURCHASING, OR HIS DESIGNEE, THESE REQUIREMENTS MAY BE BID. IN THE EVENT THE VENDOR/CONTRACTOR FILES BANKRUPTCY: FOR BANKRUPTCY PROTECTION, THE STATE MAY DEEM THE CONTRACT NULL AND VOID AND TERMINATE SUCH CONTRACT WITHOUT FURTHER ORDER. THE TERMS AND CONDITIONS CONTAINED IN THIS CONTRACT \$HALL SUPERSEDE ANY AND ALL SUBSEQUENT TERMS AND CONDITIONS WHICH MAY APPEAR ON ANY ATTACHED PRINTED DOCUMENTS SUCH AS PRICE LISTS, ORDER FORMS, SALES AGREEMENTS OR MAINTENANCE AGREEMENTS, INCLUDING ANY ELECTRONIC MEDIUM SUCH AS CD-ROM. REV. 05/26/2009 THE STATE OF WEST VIRGINIA PURCHASING CARD ACCEPTANCE: currently utilizes a visa purchasing card program which is issued through a bank. THE SUCCESSFUL VENDOR MUST ACCEPT THE STATE OF WEST VIRGINIA VISA PURCHASING CARD FOR PAYMENT OF ALL ORDERS PLACED BY ANY STATE AGENCY AS A CONDITION OF AWARD. NOTICE SIGNED BID MUST BE SUBMITTED TO: DEPARTMENT OF ADMINISTRATION PURCHASING DIVISION BUILDING 15 2019 WASHINGTON STREET, EAST CHARLESTON, WV 2\$305-0130 SEE REVERSE SIDE FOR TERMS AND CONDITIONS TELEPHONE SIGNATURE TITLE FEIN ADDRESS CHANGES TO BE NOTED ABOVE



*709022048

PO BOX 173

CUSTOM CARPETS INC

HURRICANE WV 25526

713 ORCHARD PARK DRIVE

State of West Virginia
Department of Administration
Purchasing Division
2019 Washington Street East
Post Office Box 50130
Charleston, WV 25305-0130

Request for Quotation

P

RFQ NUMBER
FLRCOV09

PAGE 6

ADDRESS CORRESPONDENCE TO ATTENTION OF

JO ANN ADKINS 304-558-8802

304-562-6977 NC DRIVE 526

DATE PRINT		MS OF SALE	SHIP VIA	FOB:	FREIGHTTERMS
07/09/3 BID OPENING DATE:	2009			יי פודאמדיו היו היו היו	:30PM
LINE	08/18/2 QUANTITY	UOP CAT NO	ITEM NUMBER	DENING TIME 01 UNITPRICE	AMOUNT
<u> Janis Maria (n. 1886). 1885 - 1886 - 1886 - 1886 - 1886 - 1886 - 1886 - 1886 - 1886 - 1886 - 1886 - 1886 - 1</u>			A CONTRACTOR OF THE CONTRACTOR		,
			THIS INFORMATION MAY NOT BE CONS		
		OR THE BIL	MAY NOT BE CON-	EDEKED:	
	SEALED BID 				
	BUYER:		Ħ	FILE 42	
	RFQ. NO.:	A Charleston Control of the Control	I	FLRCOV09	
	BID OPENING I	DATE:	2	AUGUST 18, 2009	
	BID OPENING T	TIME:	4	.:30 P.M.	
			MBER IN CASE IT	IS NECESSARY	
	TO CONTACT Y	U REGARDII	NG YOUR BID:		
		7	8		
THE STATE OF THE S	CONTACT PERSO	N (PLEASE	PRINT CLEARLY):		
	///AR	240	NOLL		-
A CANADA					
SIGNATURE		SEE RE	VERSE SIDE FOR TERMS AND CO TELEPHONE	NDITIONS DATE	
TITLE	IF:	EIN			O TO DE NOTED ABOVE
111111111111111111111111111111111111111				ADDRESS CHANGE	S TO BE NOTED ABOVE



DATE PRINTED

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

TERMS OF SALE

Request for Quotation

P

SHIP VIA

REQ NUMBER
FLRCOV09

PAGE 7

FREIGHT TERMS

ADDRESS CORRESPONDENCE TO ATTENTION OF

JO ANN ADKINS 804-558-8802

*709022048 304-562-6977 CUSTOM CARPETS INC PO BOX 173 713 ORCHARD PARK DRIVE HURRICANE WV 25526

ALL STATE AGENCIES
AND POLITICAL SUBDIVISIONS
VARIOUS LOCALES AS INDICATED
BY ORDER

F.O.B.

07/09/ BID OPENING DATE:	2009	08/18/3	2000		l			TO T T		NING TI	ME OI	.30PM
LINE	QUAI		UOP		CAT NO		ITEM NU) Pr	UNIT PRI		AMOUNT
CINC					NO.							
	****	THIS	IS	THE	EN	OF	RFQ	FLRCO	V09	****	TOTAL:	1,388,357,23
	And Andrews and An		The state of the s		***************************************							
	Service of the servic				-							
			- AVACABLE INVASCABLE									
·												
	and a supplementary of the sup		***************************************						A Company of the Comp	•		
SIGNATURE					SEE RE	VERSE :	SIDE FOR	TERMS AND CO	MDITIO	ons	DATE	
TITLE			EIN			T ALAS	APP ABIP		101 0		SS CHANGE	S TO BE NOTED ABOVE

EXHIBIT 10

REQUISITION NO.: FLRCOVO 9

ADDENDUM ACKNOWLEDGEMENT

I HEREBY ACKNOWLEDGE RECEIPT OF THE FOLLOWING CHECKED ADDENDUM(S) AND HAVE MADE THE NECESSARY REVISIONS TO MY PROPOSAL, PLANS AND/OR SPECIFICATION, ETC.

ADDENDUM NO.'S:

		.,X
NO.	2	.X
NO.	3	
NO.	4	
NIO	5	

I UNDERSTAND THAT FAILURE TO CONFIRM THE RECEIPT OF THE ADDENDUM(S) MAY BE CAUSE FOR REJECTION OF BIDS. VENDOR MUST CLEARLY UNDERSTAND THAT ANY VERBAL REPRESENTATION MADE OR ASSUMED TO BE MADE DURING ANY ORAL DISCUSSION HELD BETWEEN VENDOR'S REPRESENTATIVES AND ANY STATE PERSONNEL IS NOT BINDING. ONLY THE INFORMATION ISSUED IN WRITING AND ADDED TO THE SPECIFICATIONS BY AN OFFICIAL ADDENDUM IS BINDING.

Jarelyn Hall VP SIGNATURE Stom aypets Inc.

COMPANI

DATE

RFQ No. ELRCOVO9

STATE OF WEST VIRGINIA **Purchasing Division**

PURCHASING AFFIDAVIT

VENDOR OWING A DEBT TO THE STATE:

West Virginia Code §5A-3-10a provides that: No contract or renewal of any contract may be awarded by the state or any of its political subdivisions to any vendor or prospective vendor when the vendor or prospective vendor or a related party to the vendor or prospective vendor is a debtor and the debt owed is an amount greater than one thousand dollars in the aggregate.

PUBLIC IMPROVEMENT CONTRACTS & DRUG-FREE WORKPLACE ACT:

If this is a solicitation for a public improvement construction contract, the vendor, by its signature below, affirms that it has a written plan for a drug-free workplace policy in compliance with Article 1D, Chapter 21 of the West Virginia Code. The vendor must make said affirmation with its bid submission. Further, public improvement construction contract may not be awarded to a vendor who does not have a written plan for a drug-free workplace policy in compliance with Article 1D, Chapter 21 of the West Virginia Code and who has not submitted that plan to the appropriate contracting authority in timely fashion. For a vendor who is a subcontractor, compliance with Section 5, Article 1D, Chapter 21 of the West Virginia Code may take place before their work on the public improvement is begun.

ANTITRUST:

In submitting a bid to any agency for the state of West Virginia, the bidder offers and agrees that if the bid is accepted the bidder will convey, sell, assign or transfer to the state of West Virginia all rights, title and interest in and to all causes of action it may now or hereafter acquire under the antitrust laws of the United States and the state of West Virginia for price fixing and/or unreasonable restraints of trade relating to the particular commodities or services purchased or acquired by the state of West Virginia. Such assignment shall be made and become effective at the time the purchasing agency tenders the initial payment to the bidder.

I certify that this bid is made without prior understanding, agreement, or connection with any corporation, firm, limited liability company, partnership or person or entity submitting a bid for the same materials, supplies, equipment or services and is in all respects fair and without collusion or fraud. I further certify that I am authorized to sign the certification on behalf of the bidder or this bid.

LICENSING:

Vendors must be licensed and in good standing in accordance with any and all state and local laws and requirements by any state or local agency of West Virginia, including, but not limited to, the West Virginia Secretary of State's Office, the West Virginia Tax Department, West Virginia Insurance Commission, or any other state agencies or political subdivision. Furthermore, the vendor must provide all necessary releases to obtain information to enable the Director or spending unit to verify that the vendor is licensed and in good standing with the above entities.

CONFIDENTIALITY:

The vendor agrees that he or she will not disclose to anyone, directly or indirectly, any such personally identifiable information or other confidential information gained from the agency, unless the individual who is the subject of the information consents to the disclosure in writing or the disclosure is made pursuant to the agency's policies, procedures and rules. Vendor further agrees to comply with the Confidentiality Policies and Information Security Accountability Requirements, set forth in http://www.state.wv.us/admin/purchase/privacy/ noticeConfidentiality.pdf.

Under penalty of law for false swearing (West Virginia Code §61-5-3), it is hereby certified that the vendor affirms and acknowledges the information in this affidayit and is in compliance with the requirements as stated.

Vendor's Name: Custom CARPET Co INC			
vendor's realite.	T\-4	0/10/60	
Authorized Signature: Marilyn Moll VP	_ Date: _		
Purchasing Affidavit (Revised 01/01/09)			

FLRCOV09 Pricing Schedule

Architectural Folder samples (labeled with bidder name and class from the RFQ) with the bid. Only the purchasing copy is required to have Vendor must identify the products bid. Products must meet Section 11-Requirements to be considered. Bidder must submit brochures and this additional information.

Type 6.6 Nylon Carpet may be bid on Item 8 only. NOTE: Type 6 Nylon Carpet may be bid for Items 1,2,3,4 & 5. Types 6.6 Nylon Carpet may be bid for Item 6,7,9,10 only. Type 6 and

These pricing schedules have been revised to allow for easier entry of information on each type of carpet/backing bid

Bidders must complete product specification section and enter cost for each.

Item 1	Heather Level Loo 5,000; Maximum F	Heather Level Loop; Heather/Tweed or Random Pattern; Commercial Grade; Minimum 5,000; Maximum Pile Height: .187 (See Specifications - Item 21 - Resistance to Solling	r Random Patte e Specification	en; Commercia s - Item 21 - Re	ıl Grade; Minimun sistance to Sollin		18 ounces; M	Face Weight: 18 ounces; Minimum Density:
					Action Backing			
Enter Product Specifications:	pecifications:	a contract of the contract of	Est. Qty.	Total		Est. Qty.	Total	Grand Total
		<1350 sq ft			>1350 sq ft			VARANTE N. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1. 1.
Manufacturer:	Philadelphia	\$ \$ 1.18	1,642 \$	l	1,937.56 \$ \$ 1.01	6,318 \$	6,381.18	6,318 \$ 6,381.18 \$ 8,318.74
Carpet Name:	Sound Advice					The state of the s	-	
Fiber Brand:	Solution Q			-		L		
Number of Colors:		9						- Control of the Cont
Face Weight:	2	2						
		_		•				

The second secon				ALCOHOLOGO TITE	Vinyl Backing			
Enter Froduct opecinications	CHICALIONS.		Est. Qty.	Total		Est. Qty.	Total	Grand Total
		<1350 sq ft			>1350 sq ft			
Manufacturer:	Philadelphia	\$ \$ 1.70	1,000 \$	\$ 1,700.00 \$ \$	\$ \$ 1.53	1,000	1,000 \$ 1,530.00 \$	\$ 3,230.00
Carpet Name:	Camden Harbor II EPBL							
Fiber Brand:	Eco Solution Q			***************************************				
Number of Colors:	18							
Face Weight:	20			***************************************				
Catalog Price:	2.84					A THE RESIDENCE AND A PARTY OF THE PARTY OF		
Recycled Content:	12.1 PC/9.9 PI				***************************************			

Recycled Content:

Item 1 (cont'd)							The state of the s	
					Unitary Backing			
Enter Product Specifications:	effications:		Est. Qty.	Total		Est. Qty.	Total	Grand Total
		<1350 sq ft			>1350 sq ft			
Manufacturer:	Queen	\$ 1.33	1,000 \$	1,330.00 \$ \$	\$ \$ 1.15	1,000 \$	1,150.00	\$ 2,480.00
Carpet Name:	Dividend 26 unitary							
Fiber Brand:	Solution Q							
Number of Colors:	16							
Face Weight:	26							
Catalog Price:	1.64	The state of the s						
Recycled Content:	0							***************************************
					Modular Tile	T T T T T T T T T T T T T T T T T T T		
Enter Product Specifications:	ecifications:		Est. Qty.	Total		Est. Qty.	Total	Grand Total
		<1350 sq ft			>1350 sq ft			
Manufacturer:	Queen Comm.	\$ \$ 2.25	8,000 \$	18,000.00	\$ \$ 2.25	8,000 \$	18,000.00	\$ 36,000.00
Carpet Name:	Consultant TL							
Fiber Brand:	Solution Q							
Number of Colors:	17			- The state of the				
Face Weight:	20				A LANGE TO THE PARTY OF THE PAR			
Catalog Price:	3.75				WARRIED TO THE REAL PROPERTY OF THE PERTY OF			
Recycled Content:	12.1 PC/10.3PI		The state of the s	- Andrews and the second				

Heather Loop; Graphic Design (Definite Pattern); Commercial Grade; Minimum Face Weight 18 ounces; Minimum Density: 5,000; Maximum Pile Height: .187 (See Specifications - Item 21.0 - Resistance to Soiling - a.)

Item 2

					Action Backing			
Enter Product	Enter Product Specifications:		Est. Qty.	Total		Est. Qty.	Total	Grand Total
		<1350 sq ft			>1350 sq ft			
Manufacturer:	Philadelphia	\$ \$ 1.18	4,846	4,846 \$ 5,718.28 \$ \$	\$ \$ 1.01	14,831	\$ 14,979.31	14,831 \$ 14,979.31 \$ 20,697.59
Carpet Name:	Sound Advice						dented warming or a	
Fiber Brand:	Solution Q	- Carried Control of the Control of		The state of the s				
Number of Colors:	(
Face Weight:	22							
Catalog Price:	2.12							
Recycled Content:	(1						

Item 2 (cont'd)				- Land and the second s	Vinul Racking			
Enter Product Specifications:	cifications:		Est. Qty.	Total	3	Est. Qty.	Total	Grand Total
		<1350 sq ft			>1350 sq ft			
Manufacturer:	Queen Comm.	\$ 1.94	1,000 \$	1,940.00	\$ 1.77	1,000 \$	1,770.00	\$ 3,710.00
Carpet Name:	Change in Attitude					-2-1		
Fiber Brand:	Eco Solution Q					ASSOCIATED TO THE TOTAL TO THE		
Number of Colors:	12							
Face Weight:	26			ANNA WALLAND DARKETT TO THE				
Catalog Price:	2.18							
Recycled Content:	12.5 PC/9.9PI							
	The state of the s				Initian Backing	The second secon	WASHING BY THE TAXABLE BY THE BY	AMERICANAMIES
Enter Product Specifications:	cifications:		Est. Qty.	Total		Est. Qty.	Total	Grand Total
		<1350 sq ft			>1350 sq ft			
Manufacturer:	Philadelphia	\$ 1.48	1,000 \$	1,480.00	\$ 1,32	22,226 \$	29,338.32	\$ 30,818.32
Carpet Name:	franchise							
Fiber Brand:	Solution Q							
Number of Colors:	16							
Face Weight:	26	LLUL WARRENCE CONTROL OF THE PARTY OF THE PA						
Catalog Price:	2.7			***************************************		- Language Community Commu		**************************************
Recycled Content:	0				ALCOHOLIS CONTRACTOR TO THE CO	- LANGE AND THE STATE OF THE ST		
					Modular Tile			***************************************
Enter Product Specifications.	ecifications:		Est. Qty.	Total		Est. Qty.	Total	Grand Total
WANTAGE PROPERTY OF THE PROPER		<1350 sq ft			>1350 sq ft			
Manufacturer:	Philadelphia	\$ 2.28	4,500 \$	10,260.00	\$ 2.28	4,500 \$	\$ 10,260.00	\$ 20,520.00
Carpet Name:	Chatterbox							
Fiber Brand:	Solution Q							
Number of Colors:								
Face Weight:	16	LEAD LANGUAGE TOTAL TOTA					***************************************	
Catalog Price:	4.56	The second secon						
Recycled Content:	12.7 PC/23.6 PI	L Lively With Constitution of the transfer						

Heather Level Loop; Heather/Tweed or Random Pattern; Commercial Grade; Minimum Face Weight: 26 ounces; Minimum Density: 4,900; Maximum Pile Height: .191 (See Specifications item 21.0 - Resistance to Soiling - a.)

Item 3

Fire Department Care	Signation St.				Action Backing			
Filler Frouder obschileanons.	chications.		Est. Qty.	Total		Est. Qty.	Total	Grand Total
		<1350 sq ft			>1350 sq ft			
Manufacturer:	Queen \$	1.29	2,896 \$	3,735.84	\$ 1.12	8,860 \$	9,923.20	\$ 13,659.04
Carpet Name:	Dividend 26							
Fiber Brand:	Solution Q							
Number of Colors:	16							
Face Weight:	26							
Catalog Price:	1.93							
Recycled Content:	0							
n stor Diod for the	ifications.				Vinyl Backing			
Eliter Froduct opecilications.	dilleation.		Est. Qty.	Total		Est. Qty.	Total	Grand Total
		<1350 sq ft			>1350 sq ft			
Manufacturer:	Philadelphia \$		1,000 \$	1,700.00	\$ 1.53	1,000	\$ 1,530.00	\$ 3,230.00
Carpet Name:	Camden Harbor II EPBL				~~~~~			
Fiber Brand:	Eco Solution Q							
Number of Colors:	18							
Face Weight:	20							
Catalog Price:	2.84							
Recycled Content:	12.1 PC/9.9 PI							

					Unitary Backing			
miller Froduct opecifications	pecifications.		Est. Qty.	Total		Est. Qty.	Total	Grand Total
		<1350 sq ft			>1350 sq ft			
Manufacturer:	Queen	\$ 1.33	1,860	\$ 2,473.80	1,860 \$ 2,473.80 \$ 1.15	18,562	\$ 21,346.30	18,562 \$ 21,346.30 \$ 23,820.10
Carpet Name:	Dividend 26 unitary							
Fiber Brand:	Solution Q							
Number of Colors:	16							
Face Weight:	26							
Catalog Price:	1.64							
Recycled Content:	0							

Item 3 (cont'd)

	San Marking and American			:	Modular Tile	***************************************		
Eliter Floadet	Eliter rioduct operifications.		Est. Qty.	Total		Est. Qty.	Total	Grand Total
		<1350 sq ft			>1350 sq ft			
Manufacturer:	Queen	\$ 2.78	9,500	9,500 \$ 26,410.00 \$ 2.78	\$ 2.78	9,500	\$ 26,410.00	9,500 \$ 26,410.00 \$ 52,820.00
Carpet Name:	Change in attitude							
Fiber Brand:	Eco Solution Q							
Number of Colors:	12							
Face Weight:	26							
Catalog Price:	5.8							
Recycled Content:	11.7 PC/28.1PI							

Item 4

Heather Loop; Graphic Design; (Definite Pattern); Commercial Grade; Minimum Face Weight Weight: 26 ounces; Minimum Density: 4,900; Maximum Pile Height: .191 (See Specifications - Item 21 - Resistance to Soiling - a)

Estar Dradins	P				Action Backing			
Eillei Floudet	Eillei Froudct opecilications.		Est. Qty.	Total		Est. Qty.	Total	Grand Total
		<1350 sq ft			>1350 sq ft			
Manufacturer:	Philadelphia	\$ 1.62	3,642 \$	5,900.04	\$ 1.45	23,361	23,361 \$ 33,873.45	\$ 39,773.49
Carpet Name:	Cape Town							
Fiber Brand:	Solution Q							
Number of Colors:	13							
Face Weight:	26							
Catalog Price:	2.73							
Recycled Content:	0							
Hartor Drodent	Considinations:				Vinyl Backing			The state of the s
Eliter Flourer	Files Froduct opecifications.		Est. Qty.	Total		Est. Qty.	Total	Grand Total
		<1350 sq ft			>1350 sq ft			
Manufacturer:	Queen	\$ 1.94	1,000 \$	1,940.00	\$ 1.77	1,000 \$	1,770.00	\$ 3,710.00
Carpet Name:	Change in attitude							
Fiber Brand:	Eco Solution Q							
Number of Colors:								
Face Weight:	26							
Catalog Price:	4.14							
Donald Contont	12.5 PC/9.9PI							

	Ø
	ã
	4
ŀ	ĭ
Ł	9

mater Droduct	Considerations:				Unitary Backing			
Hint I loudet openiioanono.	Operations.		Est. Qty.	Total		Est. Qty.	Total	Grand Total
		<1350 sq ft			>1350 sq ft			
Manufacturer:	Philadelphia	\$ 1.48	\$ 096	\$ 1,420.80 \$	\$ 1.32	4,260	4,260 \$ 5,623,20 \$	\$ 7.044.00
Carpet Name:	Camden Harbor II				- 1			
Fiber Brand:	Eco Solution Q							
Number of Colors:	18							
Face Weight:	28							
Catalog Price:	2.62							
Recycled Content:	10.9 PI							

				***************************************				- I I I I I I I I I I I I I I I I I I I	W0000000000000000000000000000000000000
Enter Product Specifications	cifications:					Modular Tile			
	Circumster Circ.			Est. Qty.	Total		Est. Qty.	Total	Grand Total
			<1350 sq ft			>1350 sq ft			
Manufacturer:	Queen	€9	2.78	9,000	9,000 \$ 25,020.00 \$		9,000	\$ 25,020.00	9,000 \$ 25,020.00 \$ 50,040.00
Carpet Name:	Change in attitude						The state of the s		
		-							
Fiber Brand:	Eco Solution Q								
Number of Colors:	12								
Face Weight:	26								
Catalog Price:	5.8								
Recycled Content:	11.7 PC/28.1PI								

Pattern L

item 5

Pattern Loop (Must Have Both Width & Length Pattern Match); Commercial Grade; Minimum Face Weight: 26 ounces; Minimum Density: 6,200; Maximum Pile Height: .165 (See Specifications - Item 21.0 - resistance to soiling - .a)

Enter Droduct Charifications:	ocifications:				Action Backing			
Times a consecutive	Collidations.		Est. Oty.	Total		Est. Qty.	Total	Grand Total
		<1350 sq ft			>1350 sq ft			
Manufacturer:	Philadelphia	1.62	1,000 \$	1,000 \$ 1,620.00 \$ 1.45	\$ 1.45	2,500	2,500 \$ 3,625.00 \$	\$ 5.245.00
Carpet Name:	news flash							- 1
Fiber Brand:	eco Solution Q							
Number of Colors:	10							
Face Weight:	26							
Catalog Price:	2.73							
Recycled Content:	10.4 PI							

nem o (com a)	The state of the s			Land de la company de la compa	Action Backing			**************************************
Enter Product Specifications:	pecifications:		Est. Qty.	Total		Est. Qty.	Total	Grand Total
		<1350 sq ft			>1350 sq ft			
Manufacturer:	Philadelphia	\$ 1.62	1,000	\$ 1,620.00	\$ 1.45	2,500	\$ 3,625.00	\$ 5,245.00
Carpet Name:	live coverage							
Fiber Brand:	eco Solution Q		The state of the s					
Number of Colors:								
Face Weight:	26			***************************************				
Catalog Price:	2,73							
Recycled Content:	10.4 PI			A THE RESIDENCE OF THE PROPERTY OF THE PROPERT				
and the second s			The state of the s	THE PROPERTY OF THE PROPERTY O	Action Backing			
Enter Product Specifications:	specifications:		Est. Qty.	Total		Est. Qty.	Total	Grand Total
		<1350 sq ft			>1350 sq ft			
Manufacturer:	Philadelphia	\$ 1.62	1,000 \$	\$ 1,620.00	\$ 1.45	2,500	\$ 3,625.00	\$ 5,245.00
Carpet Name:	photo op							
Fiber Brand:	eco Solution Q							
Number of Colors:		A AND AND AND AND AND AND AND AND AND AN						
Face Weight:	26							
Catalog Price:	2.73	A LANGUAGE CONTRACTOR OF THE PROPERTY OF THE P						
Recycled Content:	10.4 Pl					AWWIGHT IN THE TAX TO	and and an exercise American A	- LL CLE STANKER STANK
					Action Backing			
Enter Product Specifications:	specifications:		Est. Qty.	Total		Est. Qty.	Total	Grand Total
		<1350 sq ft			>1350 sq ft			
Manufacturer:	Philadelphia	\$ 1.62	1,000	\$ 1,620.00	\$ 1.45	2,500	\$ 3,625.00	\$ 5,245.00
Carpet Name:	photo op							
Fiber Brand:	eco Solution Q							
Number of Colors:	10							
Face Weight:	26							
Catalog Price:	2.73							
	10 4 51							

item 6

Level Loop; Heather/Tweed or Random Pattern; Commercial Grade; Minimum Face Weight: 26 ounces; Minimum Density: 5,300; Maximum Pile Height: .190 (See Specifications item 21 - Resistance to Soiling - .a)

1				The state of the s	Action Backing	mostvennes is sumooneen en veen avec avoon ave	***************************************	
Enter Product Specifications:	Decifications:		Est. Qty.	Total		Est. Qty.	Total	Grand Total
		<1350 sq ft			>1350 sq ft			
Manufacturer:	Shaw Comm	\$ 2.11	1,000 \$	2,110.00 \$:	6,210 \$	12,482.10	\$ 14,592.10
Carpet Name:	Expert							
Fiber Brand:	Solutia							
Number of Colors:								
Face Weight:	26							
Catalog Price:	4.02							
Recycled Content:	0							

Enter Product Specifications:	pecifications:	***************************************			All MacVIII	E-4 04.	+-4-1	O Take
MANAGAMINANA MANAGAMANA PARAGAMANA MANAGAMANA MANAGAMANA MANAGAMANA MANAGAMANA MANAGAMANA MANAGAMANA MANAGAMANA			ESI. WIY.	lotal		ESI. WIY.	i orai	Grand lotal
		<1350 sq n		-	>1350 sq ft		-	
Manufacturer:		\$ 2.62	1,000 \$	2,620.00 \$	2.35	1,000 \$	2,350.00	\$ 4,970.00
Carpet Name:	Expert EPBL	-						
Fiber Brand:	Solutia							
Number of Colors:								
Face Weight:	26			-				
Catalog Price:	5.25							
Recycled Content:	0							
		***************************************	***************************************		Unitary Backing			
Enter Product Specifications:	decinications:		Est. Qty.	Total		Est. Qty.	Total	Grand Total
		<1350 sq ft			>1350 sq ft			
Manufacturer:	Shaw Comm	\$ 2.11	1,000 \$	2,110.00 \$		7,840 \$	15,758.40	\$ 17,868.40
Carpet Name:	Expert TLK							
Fiber Brand:	Solutia							
Number of Colors:								
Face Weight:	26							
Catalog Price:	4.02							
Recycled Content:	0						***************************************	

		\dashv				Modular Tile			
Enter Product	Enter Product Specifications:	1		Est. Qty.	Total		Est. Qty.	Total	Grand Total
			<1350 sq ft			>1350 sq ft			
Manufacturer:	Shaw Comm	€9	3.3	1,000 \$	3,300.00 \$		1,000	\$ 3,300.00	1,000 \$ 3,300.00 \$ 6,600.00
Carpet Name:	Expert EW24	-							
Fiber Brand:	Solutia					VARIATION TO THE PROPERTY OF T			
Number of Colors:		<u>N</u>			***************************************		***************************************		
Face Weight:		<u>o</u>				The state of the s			***************************************
Catalog Price:	4.02	N		- Commence of the commence of		L. C.			***************************************
Recycled Content:	-	0				***************************************		***************************************	

Item 7 Loop Graphic Design (definite Pattern); Commercial grade; Minimum Face Weight: 26 ounces; Minimum Density: 5,300; Maximum Pile Height: .190 (See Specifications - Item 21 - Resistance to Soiling - .c)

					Deleted			
Enter Product Specifications:	ecifications:		Est. Qty.	Total		Est. Qty.	Total	Grand Total
A CONTRACTOR OF THE PROPERTY O		<1350 sq ft			>1350 sq ft			
Manufacturer:	Lees	S	1,000 \$	1	\$	1,000		1
Carpet Name:							€	
Fiber Brand:								
Number of Colors:								**************************************
Face Weight:				W-04-10-10-10-10-10-10-10-10-10-10-10-10-10-			AND THE PROPERTY OF THE PROPER	
Catalog Price:						L. L		
Recycled Content:								
					Unibond Backing			
Enter Flounct Specifications.	Jecilications.		Est. Qty.	Total		Est. Oty	Total	Grand Total
ALTER SPRINGERS		<1350 sq ft			>1350 sq ft			
Manufacturer:	Lees	\$ 2.94	6,400 \$	18,816.00	\$ 2.61	24,500	24,500 \$ 63,945.00	\$ 82,761.00
Carpet Name:	Faculty IV				WARRANT THE THE TAIL THE THE TAIL THE TAIL THE T		***************************************	
Fiber Brand:	Antron Legacy							
Number of Colors:	36							-
Face Weight:	26						***************************************	
Catalog Price:	5.25							- Constitution of the Cons
Decorled Content	_							

Item 7 (cont'd)

nator Drodrot o	no difference				Modular Tile			
Enter Froudet opechications	pecilications.		Est. Qty.	Total		Est. Qty.	Total	Grand Total
		<1350 sq ft			>1350 sq ft			
Manufacturer:	Lees	\$ 3.47	20,000	20,000 \$ 69,400.00 \$		20,000	\$ 69,400.00	20,000 \$ 69,400.00 \$ 138,800.00
Carpet Name:	Faculty IV							
Fiber Brand:	Antron Legacy							
Number of Colors:	36							
Face Weight:	26							
Catalog Price:	6.98							
Recycled Content:	0							

Item 8

Loop Design; Commercial grade; No Less Than 100 Stitches Per Square Inch; Maximum Face Weight: 20 ounces; Width-Six Foot; Maximum Pile Height: .156 (See Specifications - Item 21 - Resistance to soiling - .b) Bidders should list multiple carpet styles and patterns as available from manufacturer.

nator Droduct or				Closed C	Closed Cell Vinyl Cushion	Backing		
Eller Floudet opecilications.	ecilications.		Est. Qty.	Total		Est. Qty.	Total	Grand Total
		<1350 sq ft			>1350 sq ft			
Manufacturer:	C & A	\$ 3.17	1,000 \$	3,170.00	\$ 3.17	2,500 \$	7,925.00	\$ 11,095.00
Carpet Name:	Crayon							
Fiber Brand:	Dynex SD-Dynex							
Number of Colors:	12							
Face Weight:	18							
Catalog Price:	6.25							
Recycled Content:	0							
Pater Droding Considerations				Closed C	Closed Cell Vinyl Cushion	Backing		
	acincanone.		Est. Qty.	Total		Est. Qty.	Total	Grand Total
		<1350 sq ft			>1350 sq ft			
Manufacturer:	C&A	\$ 3.24	1,000 \$	3,240.00 \$	\$ 3.24	2,500 \$	8,100.00	\$ 11,340.00
Carpet Name:	Colored Pencil							
Fiber Brand:	Dynex SD-Dynex							
Number of Colors:	11							
Face Weight:	18							
Catalog Price:	6.25							
)								

Item 8 (cont'd)

firster Drodingt Oppositionships			Closed C	ell Vinyl Cushion	Backing		
mites a roduct openitionion.		Est. Qty.	Total	otal Est. Qty.	Est. Qty.	Total	Grand Total
	<1350 sq ft			>1350 sq ft			
Manufacturer: C & A	\$ 3.23	1,000	1,000 \$ 3,230.00 \$	\$ 3.23	2,500	\$ 8,075.00	2,500 \$ 8,075.00 \$ 11,305.00
Carpet Name: Applause II							
Fiber Brand: TDX Nylon							
Number of Colors: 24							
Face Weight: 18							
Catalog Price: 6.25							

Finter Orodinat o	hanifinations.	F		-	Closed C	Closed Cell Vinyl Cushion	Backing		
Eller Frouder opecilications.	opeciiicanona.			Est. Qty.	Total		Est. Qty.	Total	Grand Total
			<1350 sq ft			>1350 sq ft			
Manufacturer:	C&A	\$		1,000 \$	3,240.00 \$	\$ 3.24	2,500 \$	8,100.00	\$ 11,340.00
Carpet Name:	All Star								
Fiber Brand:	TDX Nylon								
Number of Colors:		12							
Face Weight:		17							
Catalog Price:		6.25							
Recycled Content:		0							
Enter Product 6	bacifications.				Closed C	Closed Cell Vinyl Cushion	Backing		
Eliter i lounce obecliscanoise.	pecilicanona.			Est. Qty.	Total		Est. Qty.	Total	Grand Total
			<1350 sq ft			>1350 sq ft			
Manufacturer:	C&A	€9		1,000 \$	2,840.00	\$ 2.84	2,500 \$	7 100.00	\$ 9,940.00
Carpet Name:	Region								
Fiber Brand:	TDX Nylon								
Number of Colors:		<u></u>							
Face Weight		15							
Catalog Price:		5.68							
Recycled Content:	Jun	<u> </u>							

item 8 (cont'd)

Total Dunklint D					Closed C	Closed Cell Vinyl Cushion Backing	Backing		
miles rionact openitications.	pecifications.			Est. Qty.	Total		Est. Oty.	Total	Grand Total
			<1350 sq ft			>1350 sq ft			
Manufacturer:	C&A	\$	3.18	1,000	\$ 3,180.00	\$ 3.18	2,500 \$	\$ 7.950.00	\$ 11,130,00
Carpet Name:	Sail Away								Ì
Fiber Brand:	TDX Nylon								
Number of Colors:		2							
Face Weight:		4							
Catalog Price:	ဂၟ	6.36							
Recycled Content:		0							
**************************************	,					***************************************			
Enter Product 6	opifications.				Closed C	Closed Cell Vinyl Cushion	n Backing		
Cities Flounct opecifications.	pecilications.			Est. Qty.	Total		Est. Qty.	Total	Grand Total
			<1350 sq ft			>1350 sg ft			
Manufacturer:	C&A	€	3.44	1000	\$ 3,440.00	\$ 3.44	2,500	\$ 8,600.00	\$ 12,040.00
Carpet Name:	Crayon ER3							1	
Fiber Brand:	Dynex								
Number of Colors:		2							
Face Weight:		8							
Catalog Price:	6.88	88							
Recycled Content:	44.10%	%			Military and American Control of the				
Distant Droduct 6			777744444444444444444444444444444444444		Closed C	Closed Cell Vinyl Cushion	n Backing	***************************************	The state of the s
Enter Froduct opecifications.	pecilications.			Est. Qty.	Total		Est. Qty.	Total	Grand Total
			<1350 sq ft			>1350 sq ft			
Manufacturer:	C&A	€	3.05	1,000	\$ 3,050.00	\$ 3.05	2,500	\$ 7,625.00	\$ 10,675.00
Carpet Name:	Region							1	
Fiber Brand:	TDX Nylon								
Number of Colors:		16							
Face Weight:		<u>5</u>							
Catalog Price:	6	6.1							
	45 40%	%							

Cut Pattern; Commercial Grade; Minimum Face Weight: 36 ounces; Minimum Density: 4,500; Maximum Pile Height .320

Enter Product Specifications:	nacifications:					Action Backing			- The William Control of the Control
		-		Est. Qty.	Total		Est. Qty.	Total	Grand Total
		_	<1350 sq ft			>1350 sq ft			
Manufacturer:	Lees	69	2.41		1,000 \$ 2,410.00 \$	\$ 2.14	2.500 9	2.500 \$ 5.350.00 \$	\$ 7,760,00
Carpet Name:	Marche'								
Fiber Brand:	Fortis 6,6								
Number of Colors:	2	+2							
Face Weight:	ယ	32							***************************************
Catalog Price:	4.45	υ,					***************************************		
Recycled Content:		ی				***************************************			

item 10

Cut Solid; Commercial Grade; Minimum Face Weight: 36 ounces; Minimum Density: 4,500; Maximum Pile Height .320

Enter Produc	Enter Product Specifications:				Action Backing			
			Est. Oty.	Total		Est. Qty.	Total	Grand Total
		<1350 sq ft			>1350 sq ft			
Manufacturer:	Shaw Comm.	\$ 2.11	6,168 \$	6,168 \$ 13,014,48 \$	1.94	6.168 \$	11 965 92	6.168 \$ 11.965.92 \$ 24.980.40
Carpet Name:	Camden hall 36							1
Fiber Brand:	100%Nylon							
Number of Colors:								
Face Weight:	36							
Catalog Price:	3.88							
Recycled Content:	0							

Item 11 - Vinyl Composition Tile

12" x 12" x 1/8" Tiles – Must have a minimum of 8 colors.

Enter Droduct Specifications	Pilipations.				Cost		***************************************	
***************************************	ollogacolo.		Est. Otv.	Total	-	Est Ofv	Total	Grand Total
		<1350 sq ft			>1350 sq ff	-		
	Armstrong	\$ 1.05	14,150 \$	14,150 \$ 14.857.50	1.05	14.150 9	\$ 14.857.50	\$ 29715.00
Number of Colors:	94							
Catalog Price:				-			-	

Item 12 – Vinyl Composition
Tile 1

12" x 12" x 1/8" Tiles – Must have a minimum of 8 colors

Enter Broduct Spec	vitioations:				Cost			
Pilito I Canor Openinguicalion	Allegations.		Est Oty.	Total		Est. Qty.	Total	Grand Total
		<1350 sq ft			>1350 sq ft			
Manufacturer:	Congoleum	\$ 1.09	8,200 8	\$ 8,938.00	\$ 1.09	8,200 \$	8,938.00	\$ 17,876.00
Number of Colors:	· Ω	2						
Catalog Price:								

Item 13 – Vinyl Composition Tile

12" x 12" x 1/8" Tiles – Must have a minimum of 8 colors

Enter Product Specifications	fications.					Cost			**************************************
	icanons.			Est. Qty.	Total		Est. Qty.	Total	Grand Total
		۸	:1350 sq ft			>1350 sq ft			
	Mannington	₩	1.03	3,200	\$ 3,296.00	\$ 1.03	3,200	\$ 3,296.00	\$ 6,592.00
Number of Colors:	58								
Catalog Price:									

Item 14 – Slip-Retardant Modular Tile

18" x 18" x 1/8" Tiles – Must have a minimum of 8 colors

Total	xtal Grand Total
	-
2,500 \$ 15,100,00	100.00 \$ 21,140.0
Tota 00 \$ 15,10	

Labor, Supplies and Services	ices				Cost			
Remove Existing Floor Covering	ering	<4,500 sq ft	Est Qty.	Total	>4,501 sq ft		THE PERSON NAMED IN COLUMN TWO IS NOT THE PERSON NAMED IN COLUMN TWO IS NAM	
THE PERSON NAMED OF THE PE	Total Table	\$ per sq ft			\$ per so ff	est. wiy.	lotal	Grand Ttotal
Item 15	Rubber Backed Carpet Glued Down	\$ 0.40	\$ 5,365.00	\$ 2.146.00	\$ 0.40			
Item 16	Other Than Rubber Backed Carnet Chie		9			0,000	\$ 2,146.00	4,292.00
Item 17	Evieting Carnet Over Evieting Callet		\$ 48,5	\$ 7,279.05	\$ 0.15	48,527	\$ 7,279.05	\$ 14.558 10
***************************************	Existing Carpet Over Existing Pad	\$ 0.15	8,784	\$ 1,317.60		8 784		-
item 18	Existing Carpet, Pad and Tacked Edge		3 30 4			0,704	\$ 1,317.60	\$ 2,635.20
Item 19	Carnet Tiles	-	3,304	\$ 495.60	\$ 0.15	3,304 \$		
	Carper inco	\$ 0.15	22,587	\$ 3,388.05	\$ 0.15	22,587 \$	ω	5
Item 20	Vinyl Composition Tile (Non Asbestos)	\$ 0.59	14,270	\$ 8,419,30	\$ 0.59	14 270		
Padding: Bidder is to descr	Padding: Bidder is to describe the madding by broad name !!							10,000.00
and pricing. Extra Heavy Traffic padding: High density corpad, minimum weight of 36 ounces; thickness of .35 inches	and pricing. Extra Heavy Traffic padding: High density commercial carpet pad, minimum weight of 36 ounces; thickness of .35 inches.	<4,500 sq ft	Est. Qty.	Total	>4,501 sq ft	Est Oh	Total	}
	7, - 1, 1	\$ per sq ft			\$ per so ft	100	i c	Grand lotal
Item 21	Maicht And	0.4	12000	4800				\$ 4 000 00
	Thickness: 350							
Cove Base Installed	Special Control Contro	7,000		The state of the s			Total Control	
Item 22	Rubber/Vinyl Coils, 120' x 4" x 1/8" thick, all colors	\$ 1.69	28,894	\$ 48,830.86	\$ 1.39	14.447 \$	20 081 33	\$ 68 043 40
Item 23	Rubber/Vinyl Coils, 120' x 6" x 1/8"	3	1					
Kom 24	***************************************		.,	\$ 11,000.Z0	/0.1	3,720 \$	6,956.40	\$ 24,291.60
11.001	Transition Strip (per linear ft)	\$ 2.25	3,280	\$ 7.380.00	9 1 00	4 640 4	3000	
Kem 25	Vinyl T-Mold	\$ 272	484		9 0	\$ 040,i	3,263.60	\$ 10,643.60
Item 26	Toe Mold		40+	9 1,310,46	3 2.22	242 \$	537.24	\$ 1,853.72
Cove Base Purchase Only		0.00			\$ 0.80	\$	ı	
Item 27	RubberWinyl Coile 4207 477 4709					₩.	1	69
Item 28	Rubber Vinul Coile 490' × 6" × 4.0"		/,440	6,696.00	\$ 0.66	3,720 \$	2,455.20	\$ 9 151 20
		1.0/	3,360	\$ 4,603.20	-1.10	1.680 \$	1 848 00	

Total Grand Total 71,830.80 \$ 149,248.44 12,941.60 \$ 26,807.60 3,427.20 \$ 7,068.60 47,465.20 \$ 42,500.00 20,625.00 \$ 75,114.00 36,594.00 \$ 15,792.00 total \$ 1,388,357.73	<u>n</u> n n n n n n n n n n n n n n n n n n	79,811 9,24 3,08 44,38 119,260	>4,501 sq ft	117.64 66.00 96.00 20.00 94.00 94.00 produc	Print Fest. Qty. Total \$ per sq ft \$ per sq ft \$ per sq 0.97 79.812 \$ 77,417.64 \$ 0.150 \$ 1.19 3.060 \$ 3.641.40 \$ 1.10 44,360 \$ 48,796.00 \$ 1.110 44,360 \$ 21,875.00 \$ 1.110 \$ 1.2500 \$ 21,875.00 \$ 1.110 \$ 1.2500 \$ 38,520.00 \$ 1.110	\$ per sq ft \$ 0.97 \$ 1.50 \$ 1.75 \$ 1.75 \$ 1.75 \$ 1.75 \$ 1.75 \$ 1.75 \$ 2.00 \$ 1.75 \$ 2.00 \$ 7.75	Direct Glue Down Method Double Stick Method Stretch Method Six Foot Wide - Closed Cell Vinyl Cushion Backing Six Foot Preparation, ns t of Labor prevailin Name Name	Installation Labor (After 5:00PM on weekdays and on weekends, increase labor rate by 50% for installation) Sper sq ft Est Qty. Total	Item 30 Item 30 Item 31 Item 32 Item 33 Item 33 Item 34 Item 35 Item 36 Item 37 Item 37 Item 37 Item 37 Item 38 Item 39 Item 39 Item 39 Item 30 Item 30 Item 30 Item 30 Item 31 Item 31 Item 31 Item 32 Item 32 Item 32 Item 33 Item 34 Item 36 Item 36 Item 37 Item 3
--	--	--	--------------	---	---	--	---	--	--

Bids without this signature validation will be disqualified.